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Q.1- Dinesh is taller than

Elina. Chinku is taller tha @‘mb ' :
Who among them 1@t0 the tallest one? C / )

faeoT, eieh SR uierT & e 2 TSRO feT R A A F
SATHRTIT T T 21 Feasr forera Ryaar orar 18 31 71 O 9 vad o

vk o T W g2
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1. Bikash
2. Chinku
3. Akash




Q.1- Dinesh is taller than Chinku and Elina. Akash is not as tall as
Elina. Chinku is taller than Akash. Dinesh is not as tall as Bikash.
Who among them is next to the tallest one?
famror, T ot ufern @ o 71 streRter wferan Rraan wan 7 &1 fiw
JTERTIT & orva 21 femror farermer e cram 72t 21 370 & i gad ol
STk o ST | 82
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1. Bikash
2. Chinku
3. Akash
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Q.2- Select the related word from U 70 faehreut W & Weiferd vrse <Al

the given alternatives:

RIS
Pride ofLions):: ? of Cats>) @WM :: Terfoerar <Y 2
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1. Clowder
2. Herd

3. School
4. Bunch
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Q.2- Select the related word from U 70 faehreut W & Weiferd vrse <Al
the given alternatives: %l'f':l'({

Pride of Lions :: ? of Cats B EECY 3TH T :: Tarfearat &y 2

CUET — 2021 GENERAL_TEST QUESTION_PAPER

1. Clowder
2. Herd

3. School
4. Bunch
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Some flats are apartments.

.@ partment is a hall.

Some halls are rooms.

)
Conclusions: @_

least some rooms are flats. }@ﬁa?ml
0 apartment is a room. X@Eﬁz@l
O apartment 15 4 room. -

CUET —2021_GENERAL_TEST QUESTION_PAPER

1. Only 1% is follow
2. Only 2" is follow
3. Both follow

4. Neither 1° nor 2™ follow

e
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Q.3- Statements: <h

Some flats are apartments. g»—emﬁz JAUTEHE B

No apartment is a hall. IS AUTCHE BT &1 8
Some halls are rooms. gﬂ'%ﬁﬁw%l
Conclusions: TAreeny:

1. At least some rooms are flats. 1. Wﬁﬂiﬂ‘wqﬁ?%l
I1. No apartment is a room. 2. I TUTEHE THE LT B
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1. Only 1% is follow
2. Only 2" is follow
3. Both follow

4. Neither 1° nor 2™ follow
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Q.4- A certain number 0 and an number of(men are going

somewhere. Half of the owners are on their horses' back while the remaining

ones are walking along leading their horses. If the number of legs walking

on the ground is 70, how many horses are there?

HT =S R 3Ia- &1 SATGHT gl AT I 51 AT ATTeTeh U NS hl I3 W
Sarfeh aTeht WifeTeh 31U TS St ST | o R 1 afg T W oo ey S/

aﬁwa‘ a‘rﬁmﬁ‘aﬁ%%"
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Q.4- A certain number of horses and an equal number of men are going

somewhere. Half of the owners are on their horses' back while the remaining

ones are walking along leading their horses. If the number of legs walking

on the ground is 70, how many horses are there?

HT =S R 3Ia- &1 SATGHT gl AT I 51 AT ATTeTeh U NS hl I3 W
WeIfeh STeh! WTfeTeR 31U TET ShT STTETE | oe @ 1 Afe THIT U Tei arey O’
6T TEAT 70 B, A TR Tg €2
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Q.5- There are Deers and Peacocks in 3706, By counting(heads\they are UK +193z320

The number of thell-s-How many(Peacocks hre there? w +259=29°
qm%%mmﬁ%maﬁwh%lﬁﬂﬁﬁmsmﬁmgjsoﬁﬁ%lgﬁ;ﬁﬁaﬁ .83 - |90
qE&at 200 ?
gﬁ?ﬁ%"ﬁ% Gu + 2y = LOO I 1z°
: R A 2_
@@ : CUET — 2021 _GENERAL_TEST QUESTION_PAPER co &
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Q.5- There are Deers and Peacocks in a zoo. By counting heads they are 80.
The number of their legs is 200. How many Peacocks are there?

T ferfeamer & f2er 3w 9w 21 for e w) gt ST 80 2iet 31 37ekh OXi <ht
HEAT 200 Tt 21 AR fore 82
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Q.6- Choose a similar word: THTTLT e aﬁrwzﬁﬁm
Jute : Cotton :: Wool : ? @: :: @: ?
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Terylene

i

Rayon

Nylon
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Q.6- Choose a similar word: THTTLT e aﬁrwzﬁﬁm
Jute : Cotton :: Wool : ? @: @:: () ?
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1. Terylene
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Q.7- Arrange the following words as per order in the dictionary :
feferiaa wreat @" SHATTAR saTeerd I :
A. Conégl_(me —

B. Conscjlousness

C. Conscienc@

D. Conservation

E. Consequence @
7 N\ [CUET - 2021/ GENERAL_TEST QUESTION_PAPER
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Q.7- Arrange the following words as per order in the dictionary :

freferRaa sregt it egeRieT o SHUTTAR saafierd HifT :

A. Consume

B. Consciousness
C. Conscience

D. Conservation

E. Consequence
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1. CBAED
2. CABED
3. CEBDA
4. CBEDA
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Q.8- Choose the odd pair of words. %Grrrsl?‘rama'qtraﬁﬁm

A. Volume : Liter A. @ -&.

B. Time : Second
C. Resistance :
,4 —
. Pressure : Barometer 7%]) ( |
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Q.8- Choose the odd pair of words. e vregt @R == shiteTu)
Volume : . : e
Time : / . : Uehe
Resistance :

Pressurvey.
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BAROMETER
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Q.9- Choose the odd pair of words.

A. Blacksmith :

Carpenter : Saw

B
C. Barber : Scissor
D

Goldsmith : Ornaments D. :
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Q.9- Choose the odd pair of words.

A.

B
C.
D

Blacksmith
Carpenter

Barber
Goldsmith

Anvil
Saw
Scissor

Ornaments




Q.10- A is B's sister. C is B's mother. D is C's father. E is D's mother. Then,

how is A related to D?
A, BRITETRIC,BhIATZI D, C HTTUar 21 E, DRI AT g1 a1, A, D & formr

TR Gt 22

1. Grandmother
2. Grandfather
3. Daughter

4.~Grand daughter
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Q.10- A is B's sister. C is B's mother. D is C's father. E is D's mother. Then,

how is A related to D?
A, BRITETRI C,BhIATZI D, C HTTUar 21 E, DRI AT g1 a1, A, D & oo

TR Gt 22
AR HaTEd =t
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1. Grandmother
2. Grandfather
3. Daughter

4. Grand daughte
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Q.11- Choose the missing term out of the given alternative :
fag Ty Rrehed f A TR UR BT L
W-144, ?, S-100, Q-81, O-64 w =
A. U-121
U-12
V-121
V-128
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Q.11- Choose the missing term out of the given alternative :
frg e Rt # & o T @ i

W-144, ?, S-100, Q-81, O-64

A. U-121 =

B. U-122
C. V-121
D. V-128
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Q.12- Select the related letters from the given alternatp e
MAN: 1;12(1? . WAN : " g

,0”)
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Q.12- Select the related letters from the given alternatives
fau T feheat § | Hefea o7eRt Sl gy
MAN : PDQ :: WAN : ?
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Q.13- A man is facin -m turn @ in th anti-clockwis direction )
and then n the Which direction is he(facing now? [Py &
Ueh ATEHY hT &I SfR10T ShT 3T B 8 STHTA {39 # 135° 3R o gferummad Q%

>

fao & 180° HaT R %amw%amaﬁaﬁ'{%o S

C/"‘//( 80,
: %& — y/ CUET — 2021 _GENERAL_TEST QUESTION_PAPER

“ 4
b, o A

North-East
North-West

South-East
South-West
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Q.13- A man is facing South. He turns 135° in the anti-clockwise direction

and then 180° in the clockwise direction. Which direction is he facing now?

Teh SATGHT o7 T STA0T T TR B 98 STATed (o9n § 1350 3R foRe aferormad
fao & 180° AT R1 ot 3went A forwr faem < et 32
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1. North-East
2. North-West
3. South-East
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Q.14- In a certain code language, BEAT is written as YVZG. What will be

the code 0 )/ v G\

Tk FAf2ra e W & BEAT &Y YVZG forat st 1 MILD o1 i . grm?

o/
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Q.14- In a certain code language, BEAT is written as YVZG. What will be
the code of MILD?
Tk FAf2ra e W & BEAT &Y YVZG forat st 1 MILD 1 i 3 grm?

CUET —2021_GENERAL_TEST QUESTION_PAPER




&

idigial CUET 2023

Q
Thrk
Y



